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1. Compare the properties of Insertion Sort and Shell Sort. (20%)

b2

a. How many different binary trees can be made from 5 nodes?
Explain your answer. (20%)

b. Suppose a binary tree is used to store N nodes, show the possibly
minimum tree héight; Explain your answer. (10%)

Ll

The sequence F(n) of Fibonacci numbers is defined by the recurrence
relation & | “
F(n) = F(n- 1)+F(n-2),
with seed values
F(0) =1, and F(1)=1.
a. If using the recursion method to calculats the value of F(12), how
many times of additive operations will be performed?
Explain your answer-briefly-(15%)
b. If using the dynarmic programming method to calculate the value
of F(12), how manyitimes-of additive operations will be performed?
Explain your answer briefly. (15%)

4. For an AVL tree, write a C or java-like pseudo-codes to determine
which one of the R-R, L-L, R-L, L-R rotations should be perform.
Explain your answer briefly. (20%)
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